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NAME OUT| IN |GROSS|H cp| NET NAME OUT| IN |GROSS| H cp| NET
1|3 g8  # |43 45| 88 18.0| 70.0 |35/ K 47 5. #=| 48| 52| 100 24.0| 76.0
2 |7 OB My 43 | 41 84 |13.2 | 70.8 |36|)1 B 5. A5t 44| 43| 87 |10.8 | 76.2
315X % §2035 41 76 | 4.8 | 71.2 |375A w & —|49 43| 92 |15.6 | 76.4
418 K Jn EH | M43 87 (156 | 71.4 |38\42 B 4E ;& 45|51 96 [19.2 | 76.8
5 8 |43 38 81 6 71.4 (39 H B IE ;& 4749 96 19.2 | 76.8
6|7 B — A|38 42| 80 4 71.6 |40 B % =|52|44) 9 19.2 | 76.8
7L B % 5]/ 40 43| 83 [10.8 | 72.2 (41\'m ®B % — 50|46 96 19.2 | 76.8
8 KN¥AM = 4444 88 156 | 72.4 42|, % = 48|53 | 101 |24.0 | 77.0
94T N 15 = 44 44| 88 156 | 72.4 [43|E B4 |47 42 89 (120 | 77.0
105~ B 9 /3743 80 | 7.2 | 72.8 |44|F8 #m # 96|44 | 44| 88 |10.8 | 77.2
| F A % ¥ 44|42 8 (13.2| 72.8 |45|e3 #  F H| 49|45 94 (16.8 | 77.2
124 ¥ 5 {4 50 | 53| 103 (30.0 | 73.0 (463 = & Z |49 43| 92 [14.4| 77.6
13|22 7% {% | 50|47 97 (240 | 73.0 |47\ ©B RBF % 52|46 98 |20.4 | 77.6
14|58 5 &k X 39[39 78 | 4.8 | 73.2 |48\ F B == 49|49 98 (20.4 | 77.6
15| B o {=| 48|47 95 |21.6 | 73.4 |49|%2 18 & = |41 |44 8 | 7.2| 77.8
16| K B £ K| 41|41 8 | 84| 73.6 |50|A £ b £|46|45 91 |13.2| 77.8
17 N fh| 44 | 44 88 |14.4 | 73.6 (5142 JT PR A 44 40| 84 | 6.0 | 78.0
18/ BF 4% £/ 50|50 100 (26.4 | 73.6 |52| v & % |52|49 101 |22.8 | 78.2
19F #4048 88 |[14.4 | 73.6 [53/A & |44 38| 82 | 3.6 | 78.4
200/ B K |39 41 80 | 6.0| 74.0 [54|% w = — 45 48| 93 |14.4 | 78.6
21/ g 5. 5] 45|46 | 91 |16.8  74.2 55|~ B2 B A% 47|52 99 20.4 | 78.6
228 B A 4242 84 | 9.6 | 74.4 |56 Ak E | 48| 54| 102 [22.8 | 79.2
23K B | B 46 | 48| 94 [19.2 | 74.8 [57|5k H & Ak 49 49| 98 18.0 | 80.0
248 2 . £ 49 50| 99 [24.0| 75.0 |58/% ®W = k|50 48| 98 18.0 | 80.0
25/ 1 R &= 4251 93 [18.0 | 75.0 (59| K3E & 44 53 |55| 108 27.6 | 80.4
2617 B % -F|39|42| 81 | 6.0 75.0 [60/7%® &  Hx -F| 51|56 107 26.4 | 80.6
27\% 4K % | 50 47| 97 21.6 | 75.4 [61|%= it F |45 44| 89 | 8.4 | 80.6
28| F/EHE ER 43 /48| 91 156 | 75.4 [62|#% H = B 48|50 98 156 | 82.4
20/ 4F #  — Bm 44|47 91 |15.6  75.4 |63|;x & 7. J| 50| 50| 100 16.8 | 83.2
30| AT JZ| 43 48| 91 |15.6 | 75.4 |64|AT BF i k|51 48| 99 |15.6 | 83.4
31/ B E £ 40|44 84 | 84 75.6 |65 FF ] mE k|52|45| 97 13.2 | 83.8
32/ AL B 1EF])| 4742 89 [13.2 | 75.8 |66|1& 4T 415 4T| 55|52 | 107 |22.8 | 84.2
33)% 7 E #i 48|46 94 |18.0  76.0 |67/4F N H 4|82 82 164 136.0 (128.0
34|tk % #5050 100 [24.0  76.0
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